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Sense of Appreciation

PART A: Grammar and Vocabulary \ oo
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct P o 510 Axivo
choice on your answer sheet.

| ol 3L
61- The team ...continue to be successful in future years because some positive steps Saving Nature

... by the coaches to attract talent from all over the world recently. ) Vow )
&\ Axao b Y4 dxivo

1) is going to - have been taken
2) will - have been taken
3) is going to - have taken

4) will - have taken

62- A: Sam’s just lost his job and is looking for a new one.
B: Why... from his job? Did he do something wrong?
1) did he fire 2) was he fired
3) has he fired 4) is he being fired

63- Despite the common belief that they don’t hurt humans, hundreds of people ... Killed by lions in
Tanzania since 1990.
1) have been 2) has
3) have 4) has been

64- Another reason to ... your furniture to charity is that you will be able to get a tax break for your
contribution.
1) found 2) respect
3) donate 4) feed

65- Organizing several workshops in two days was a big challenge for our university, but fortunately
everything went according to ... .
1) schedule 2) pressure

3) power 4) success

66- After years of movement from one city to another, father decided to stay in this small city,
claiming that he had found out that he had a lot in ... with the people living here.
1) nature 2) society

3) common 4) relative

67- San Francisco was shaken by a severe earthquake which, together with the fire that followed,
almost completely ... the city.
1) destroyed 2) enjoyed
3) protected 4) saved

68- He lives on the street and sells the most ... drawings at shows and art openings around the city.
1) amazing 2) injured

3) voluntary 4) careful
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69- But, unlike your mom and dad, your English teacher probably doesn’t love you ... and will
punish you for your behavior.
1) surprisingly 2) politely
3) suddenly 4) unconditionally
70- Because the report contained ... grammatical mistakes and misspellings, the editor did not accept it.

1) ancient 2) countable

3) ashamed 4) countless
71- A: You are always thinking about how to repay him for what he’s done to you.

B: You’re right. But unfortunately, I’m not a kind of person to ... and forget.
1) forgive 2) remember

3) reply 4) dedicate

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice

on your answer sheet.

Sometimes, we think our parents get in the way of our happiness and many of us have experienced
rebelling against them at some point, especially when we were still ...(72)... . However, we should not
forget that they ...(73)... to protect us from possible harms. Here are some tips helping you behave
more appropriately towards your parents.

Do not be shy of expressing your gratitude as they ...(74)... to be loved and honored. Your hugs and
kisses show how grateful you are ...(75)... having them. You definitely disagree with some of the
decisions which ...(76)... by your parents. Try telling your thoughts, but if they do not accept your

argument, respect their decision.

72- 1) teenagers 2) conditions 3) emotions 4) humans
73- 1) will be 2) going 3) will 4) are going
74- 1) describe 2) experience 3) deserve 4) experiment
75- 1) for 2) at 3) of 4) in

76- 1) make 2) are made 3) made 4) is made

PART C: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice

on your answer sheet.

The day after Thanksgiving is the start of the holiday shopping season. Thanksgiving is always on a
Thursday, so the day after is Friday. This day has come to be known as “Black Friday”. It has been
the busiest shopping day of the year since 2005. The name “Black Friday” was first used in
Philadelphia (United States) in the 1950s. The police called this day Black Friday because of the

heavy traffic it drew.
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Most stores offer great deals on Black Friday. They open their doors in the early hours of the
morning. They try to attract shoppers with big discounts. Some items, like TVs, are much cheaper
than usual. Stores may even lose money on these items. They hope that shoppers will buy gifts for
other people while they are in the store.

Black Friday is a great time to go shopping. The problem is that there are not enough low-priced
items to go around. These items are in great demand, so people may line up hours before a store
opens. They may be hoping to get a low price on a TV or laptop, but not everyone who wants one will
get one. Some people will leave with disappointment.

The situation can be stressful. Some Black Friday events have been violent. Some workers have even
been hurt by large crowds. Fights have broken out over toys or people cutting in line. However, most

Black Friday events are safe and fun. Still, if you plan on going, expect large crowds and a bit of shoving.

77- Which of the following is NOT supported by the passage?
1) Black Friday is always the day after Thanksgiving.
2) Black Friday is a national holiday.
3) Black Friday is the busiest shopping day of the year.

4) Black Friday is the start of the holiday shopping season.

78- There is enough information in the passage to answer which of the following questions?
1) Where does the name Black Friday come from?
2) Why did the shopkeepers try to change the name of Black Friday?
3) What time do stores close on Black Friday?

4) Why is Black Friday something that can be found everywhere?

79- What is the author’s goal in writing the last paragraph?
1) To emphasize that, although Black Friday can be stressful, it can also be safe and fun
2) To show that Black Friday is the least stressful time of the year
3) To ask readers not to leave the house during Black Friday to save money on this day

4) To inform readers about all of the best shopping places during Black Friday

80- Which of the following would be the best title for this passage?
1) Black Friday: Stories from the United States
2) Black Friday: Why Should You Go This Year?
3) Black Friday: The Negative Points You Should Know

4) Black Friday: A Chance to Save Money on the Big Day
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